
 

HỌC TẬP - LỚP 4  - TOÁN LỚP 4 

Giải bài 2 trang 60 SGK Toán 4  

Bài 2 (trang 60 SGK Toán 4): Viết số thích hợp vào chỗ chấm: 

70kg =....yến 

800kg = ....tạ 

300 tạ =...tấn 

120 tạ =...tấn 

5000kg = ...tấn 

4000g = ...kg 

Lời giải: 

70kg =7 yến 

800kg = 8 tạ 

300 tạ = 30 tấn 

120 tạ = 12 tấn 

5000kg = 5 tấn 

4000g = 4 kg 

 

https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-4-c154
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/giai-bai-2-trang-60-sach-giao-khoa-toan-4
https://doctailieu.com/giai-bai-2-trang-60-sach-giao-khoa-toan-4

